Exercise 134.1

Fill in the correct form of the 3-3 adjective.

1) dewmg, dekég
askél
ackéoot
aeKE®V
aswkéa
aetkég

AEKEOG

Kpeiocovog

KPEIGGOVOV
for the unseemly man KPEIGGOVEGTL
or the unseemly men Kpeiooovt
ofthe unseemly men KPEIGGOVOC
the unseemly things (subject

Y gs (subject) Kpeiooovag

the unseemly thing (direct object)

Kpeioccova

of the unseemly woman

2) AueNPEPNC, AUPNPEPES

AN PEPL0G
sides
auenpepeg
(subject)
AN PEPEGTL
apuenpePEL
AN PEPLOG

AuENpEPEQS
&V aueNpePEL

of the quiver (f) covered on both

quivers covered on both sides

for the quivers covered on both sides
for the quiver covered on both sides
of the temple (m) covered on both
sides

temples covered on both sides (d.o.)

in the temple covered on both sides

2) kpeloocwv, Kpelooov

than the more powerful man (gen.)

of the more powerful men

for the more powerful women

for the more powerful man

of the more powerful thing

more powerful men (direct object)

more powerful things (direct object)




